EFHEE(PDTEFER (H23~25)

EE Pl%& B L HEK H23 H24 H25 &
1001 | /KR Fi| F 2= % (—HEHEKE/HERLTLSKIREKE) X 100 83.61 81.53 79.92
1002|/KRRHBE % [(FERLTWWSKEKE/—BRERKEKE)—1]1% 100 0.87 5.96 478
1004| B 2R EKIEE % (BEREKEKE/2KEKE) X100 0.00 0.00 0.00
1005 BUKE1Im3& Y KBEREIREEE H/m3 KEREICERELEZER/ZORENSDIUKE 0 0 0
EREEMNA
1101 |[R/AKKEEIRE IHHB [R/KKEEERIE B % * 156 X156 *156|[E] &Y NE
BE®D5IA
1103|384 B Bk B B R EE £ /(1,000m3/H) %&ﬁgiﬂmg%ﬁ%jﬁﬁﬁ/ — RFHEKE) * 0.00 0.00 0.00
1104 KEHEREE R % KEREERBEE R/ 2EERED X100 0.00 0.00 0.00
1105|HE RA D RE-HLLLVKERE % E(lj;j_lfﬁ:?fjf_ H?‘b%’i%/ gﬁ?g%g /;i]’égc 100.00 90.00 |  100.00
T o N—(FHEABERERNEE - RBERKEEER
1106[IEREMNS R =B LULVKERZE % #$1E)/§§%i5§7£§%¥$§#;¥1ﬁ] * 100 _ i 37.50 37.50 37.50
1107[#8RU/N\O AR R E K E R L % ('g”ﬁ;;g'{g)‘ffég/ BRRE/RRNOASYREKE 0.00 0.00 0.00
1108|H#% (TOC)EEKEH %L % (ERMEXNEE/ERYKEEAEE) X 100 24.67 23.30 13.33
Y (xi/Xi)/6 X 100(E£EE(X, HFEHLRUVZDIE
a4, gkﬁE&li%OMté%,\\tv/}}iu‘%wgtéfr%,
10| E€EEEKGHAL % f:'l“ f@g%g%@fﬁ%gf wé%}%&wuﬁé;}i%’ 0.00 0.00 0.00
TOEMBERKEEEXLD, Xkl EEEEDK
BEEEZELS,)
2 (xi/Xi)/6 X 100(EMME L1, PILE=ILRUE
DILEW, EIiEMAAY, DL L-RTRII L
ol : N R : .
1111 | B R KGR % i(ﬁfﬁf?}’ @?ﬁfﬁﬁ?ﬁao@é&ﬁufﬁf = 13.03 17.76 961
BEEMNEDHRKETOERBERKEEEXLD,
Xikld, EEEYMEDKEREEEELS,)
2 (xi/X)/4X 100 EMERELL [E44 RE
EHR, EAAVREEER, 7z/—ILE BED4
1M12| EYEREKEEREELL % BEWLS xikld, BEERYEDHKRKIETOERMAIE 0.00 0.00 0.00
RKEEZS Xkl EEEYEOKEREEES
LNMS.)
2 (xi/Xi)/9 X 100(EH#IERILEMELIL, KBERAE
[ZESHBNTLVAMEIEERR, 1,1-UV00TFL Y,
TCHOA Y, DR-12-UHOATFLy, TS0
AIFLY, NJoOAIFLY, RUEVDTFEE, K
13| ARIERILEMEREKERAEL % BEEREZICEDHLONTLNS - 00T4Y, 0.00 0.00 0.00
112-F)/00T R0 D2REDEEFIEZELD. xikld,
BEMIEREEYMEDRKETOERBIERKE
EZLS, Xikld, RERERIELEMWEOKERAE
B, RIIEEHEZEBEELS,)
Y (xi/Xi)/5x 100GH=RIE R MEX, BERE, /00
Befg, CoOOfEE, M) oOOEEE, RILLTILTE
M4 ESRIERMEEKEREEL % RDSTEZELVS, xikld, BEERIERYIDIEKIETD 0.00 0.00 0.00
FMBAERKEEEFLD, Xiklk, HEFRIERDD
EEEEEZEL,)
1116 E S Rig A % (FEREM RZA BE/FER B ) X100 0.00 0.00 0.00
2003 (3% 7K P 1 h R fR % [j(ﬁ);‘(%%;ﬁﬁ%ﬁﬁajj ——BEXSKE)/ 2K E 7.29 11.75 10.75
2004 | Ao /Kt BT BE BE H B HIRASE/— B FEHEKE 0.11 0.11 0.11
2005 | #4 7K il BE £1 H 4F [l #6 7K il BR B 2% 0.00 0.00 0.00
2101 [ AL KRR R % %@%@ﬁf BEBAT-FKIERAET)/ 2 F KIS 0.00 0.00 0.00
2102|#R L R iB =R % ;;%_g{gﬁtg zgg%%gmé%ﬁ%mg&ﬁﬁ/ EE 27.27 36.36 36.36
2103\ F L B = % CEREM AFEREEA - ERER/ EBRLER) x 100 0.00 0.00 0.00
2104 EERDFEFFE % (BFISh-EREE/ERKIER) X 100 0.00 0.00 0.00
2105| ERRDBE AR % (FESIh-ERER/ERHEIER) X 100 0.00 0.00 0.00




TS PI£& H{ HER H23 H24 H25 &
2106[/N LT DEH R % (BEEFSni=/ LT/ /NILTERE S X 100 0.00 0.00 0.00
2107|ERDOIEE % (FRERIER/ERKER) X 100 0.00 0.00 0.00
2201 7K B DK B F 3k % FBEKRKEEHEE 0 0 0
2202 | B ERDEHREE {4/100km (REERDOEHE/BESRIER) X100 0.00 0.00 0.00
2203 | E M EFAL K= 3 % (EHMEEIKE/— B EHEIKE) X 100 0.00 0.00 0.00
2207|:4K ER it B % %@Eﬁ%g) SN TV FKIEEEAE T/ 2K 0.00 0.00 0.00
2208|R> TR E MR ER R % %@E?%g) SN TWSR TRTE N/ 2R T 100.00 100.00 100.00
2209 | B2 7K ith i B ME E5 R % %T’ﬁf’éoﬁmﬁéhu%m*mgé/ Bk ik 10000 | 10000| 10000
2210| ER DM EILZE % (MEELER/EREIER) X 100 26.57 26.57 26.57
2211 [ FESEZE A H IHELFBEE/—BTFHERS 37.50 37.50 37.50
2212 (R EHEZE B3 H IEHREETBEE/—BERE 1.18 1.18 1.18
2216| ER AR ERREEE % ﬁ?mﬁ%gﬁﬁgé/ SRFROENRER) 75.41 75.41 75.41
2217 | {4 R % (3R REEE/ SRR 20 X 100 20.83 20.83 20.83
3001 | EEINFZ b3 % (BRI /EXE ) X 100 ‘ 154.10 162.18 167.48
3002 fF &IV tL 3= % [)((51.(% SR s SRk 140.97 149.56 156.08
3003 [N Xtk 3 % (v 4z /#2%E A) x 100 140.97 149.56 156.07
3004| REERIESLLE % [(BEEREE/(BEEINE - ITFEINE)] X100 78.84 45.96 7.94
3005 |#E A £ Eb 3R (NI YU Z 59') % (EREEZRAS/IREERIIRA) X 100 2.80 2.39 1.73
3006 |#E A £ LT CEARHURA ) % (BEARETERAS/EARBIA) X 100 98.74 29.21 13.38
3007 | B 8 — A 2= YE /KU % FH/A (F& kIR 2% /48 3% #h 7E AR Bdk & $50./1,000 79,963 84,397 93,827
3008 [#EKURIEICX I DEEREEDEIE (% (BLEHRESE/#HKIREE) X 100 9.78 10.61 9.05
3009 |#AKINEE ISR T A EBRENEIES |% (EEF B /#EKINEE) X 100 8.85 7.61 6.20
3010|#AKINEE ISR T RBIMIEHNENEIE |% GRUm{EENE /#57K IR 4E) X 100 30.36 29.55 30.20
3011 |[#AKINEE IS T A EBEZETENE |% (EEEEES/HRKINE) X 100 58.15 59.98 77.28
3012|#AKINEE ISR T A EBHSDEIE |% (EEEERS/HEKINEE) X 100 303.79 294.16 331.36
& EUNE FEKIZIANBERDSIL N
3013 KEE S CENT HE2) % (HE#A Bl /A 7K R {H) % 100 126.23 133.64 139.86
3014 |48 B {dh A/m3 Bk /B UK E 110.77 111.64 110.53
A BREEA - (ZRIFEE+MERUTARTHR
3015 |#& /K R {dh M/m3 it B S S8/ kS 87.75 83.54 79.03
3018|HUNE % (BEIUK=Z/#6K=) x 100 99.47 99.47 99.46
3019| /e 2% FI| FH 3= % (—BFEHHRKE/—BFKEEH) X100 78.19 76.25 74.75
3020 | fE ER ER R AF BN % (—ABEX#BKE/—HFKEEH) X100 92.71 88.25 89.25
3021 | B fa 3 % (—HEHHEKE/—BEXHBKE) X100 84.34 86.40 83.75
3022 | ENLE 3= % (REVEE/RBIAE) X 100 3,932.86 623.48 719.05
3023|B D EARER LR % (BCEAXE+ERS)/BE-EXREET]X100 77.39 77.80 77.44
3024 | [E 7€ k. 3= % [EEEE/(HEEXRE+EIRE)] X100 111.75 108.01 109.58
3025 | EEEETEXRMIEME L3 % (=R Eiﬁyj:?/ = 5 R {E A1 E) X 100 191.53 203.00 255.87
3026 |[E % & EE Bl En @] %ﬁéﬂ%/—ﬂﬁa{l%ﬂiﬁ)/ (B ERAE+ MR 0.090 0.087 0.083
3027 |El & EFE A E m3/10,000M (#&KE/FREFEEE) X 10,000 7.60 7.12 6.98
3101 [ B ERIMEE H/A BEARBLTLSETEERE / £HBER 2.64 247 247
102| RE B IEE H/A BEANELTIWVAREIERRES /  £BEH 0.00 0.00 0.00
3103 |5} SR HHE B i RsF A (BEE NN EIEEZ H-ER- A / £BEH 9.21 8.60 17.90
3104 N ER S RIS 5] ELEANEHEEXZ =B A / SBER 0.00 0.00 0.00
3105 | HR Tk & 3= % (BT SRk / £B 8% x 100 64.29 73.33 73.33
3106 | KB EFRIRFEHE F/N LHEDKEEXEBEBREYN / SHEK 16.42 18.27 19.27
3107 | B fiT B E & 3 % (B EBRREEBEL / £BE$) x 100 0.00 0.00 0.00
3108|Hi flT A & 2 % (BB E / #/KINEE) x 100 0.00 0.00 0.00
3109[BE — A Lf-VUfid/KksE m3/ A FHEKE / 2BER 725700] 658,630 645,685
30|BE — A=Y A—2% 8/ A KEA—28 / £ E = 0 0 0
. (METHKRIFELIERA - BE) / (£ EH x &

KRR N oS % BS/A 75 B 9] X 100 0.00 0.00 0.00
3201 [JKEEXICHRDIFHRDIZHEE =5/ [LERESEOAMERE / faKEE 0 0 0
3208 |BE B EEKEK % FRIEEERELK 0 0 0
3209 |15 $RFAREE R &K i FREIEHRERTER G 0 0 0
4001 |AR/KE1m3A-YENEES kWh/m3 2EENDENFEH=E / FREEKE 0.09 0.09 0.09
4002[Ao/KE1Im3L-YEHEIRILT— MJ/m3 LHEETRRIRILT—HES / EHEEKE 0.41 0.42 0.44




E= PI£& H{ HER H23 H24 H25 &
Lh S __Zn EE] = N
4003 ﬁiﬁfﬁﬁl*)lx:\'—“—ﬂﬁﬁﬁ % %ﬁg%%*;kz)—o niﬁﬁo) EE.jJ1E%E / éjjﬁnio) 0.00 0.00 0.00
4004 Bk EE T DAEDFIRE % EHFALE / FKREELS) x 100 100.00 100.00 100.00
4005 |IREIEM DS AV ILE % R SNIEREIENR / BEREIENFE 68.98 | 10000 | 100.00
4006 ﬁg{i}f%mﬁt” —B e RER(CO2)H g-C02/m3 [ — Bt RE (CO2)HEHE / FRIE/KE] x 106 32.38 33.40 34.07
4101 |#h FKE % (#hFKBIKE / IKEFIFHKE) X 100 0 0 0
5002| BRIk th ;B R MR % g?;’??ﬁaﬁﬁ'Zjﬁﬁbt@mmﬁ% /BKBHEER /| 50000 50000 50000
5003 | EfEI7R> T EHiFEIER % gzi&%ﬁﬁxﬂ#ﬁo@éﬁ /RUTREH x FHIE 40.25 40.39 40.39
5000|BKiR® = 2Rz % g’%%z%é%%bf:;’%ki%ﬁ%b / E&FIKIGEERN) X 0.00 0.00 0.00
5101;8/KiIFEHEE 10E R D 48/ B Fh 10§‘FF§10);’%7}<173;1§JL$E&1$% / ;’%ma—;@*g& 0 0 0
5102|5254 L5k E - e R % [ff%g' MIVEHHELR + MELR) / EHELER] 100.00 100.00 100.00
5103 ERRDERENE {4/100km (BEROEHEH / EREBIER) X 100 0 0 0
5104 S A ERDEHRENE {4 /100km (BRAERDEHER / SAERBIER) X 100 0 0 0
= i o (BR-HE-HHREEOLABRELY / B -1
5110|5%E mRE % R (e m AR EE) X 100 2,533.33] 2,533.33| 2533.33
5111 | B aRE % (BRLE-ERER / EREER) x 100 100.00 100.00 100.00
5112|/NLISREHE £ /km NILVJEREH /  ERKER 7.573 7.573 7.573
6001 | EER TSR HE A AMERTER DB X HEAR 0 0 0
6101 | EIFR 34k % FRIAM RS 0 0 0




